[image: image8.wmf]RC

j

R

C

CR

j

k

v

v

v

3

1

2

2

2

+

+

-

=


[image: image1.jpg]


        für:  
[image: image2.wmf]°

=

=

+

-

0

)

(

;

0

1

2

2

2

k

arc

R

C

v

 
[image: image3.wmf]


[image: image4.wmf]

 EMBED Equation.3  [image: image5.wmf]CR

1

0

=

v



[image: image6.wmf]3

3

1

)

(

0

=

Þ

=

v

k

v


� EMBED Equation.3  ���








[image: image7.wmf]RC

j

R

C

CR

j

k

v

v

v

3

1

2

2

2

+

+

-

=

_1193868142.unknown

_1193913314.unknown

_1193913349.unknown

_1193868143.unknown

_1193867876.unknown

_1193867838.unknown

